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M7 Ch6 Practice test 

1.  Twice Brian’s age plus 5 is Jose’s age. Jose is 65. What is Brian’s age? 

 

  

 

 
 
 
 
 
 

 2.  Three children each had the same amount of money in their savings accounts. One of the 

children withdrew a quarter of her money and spent it all on a $10 T-shirt. What was the total 

amount of money originally in the accounts? 

 

 
 
 
 
 
 
 

 3.  The length of each side of a square was decreased by 2 inches, so the perimeter is now 48 

inches. What was the original length of each side of the square? 

 

 A. 10 in.  B. 12 in.  C. 14 in.  D. 16 in. 

 

 
 
 
 
 
 
 

 4. $3 less than Sara has                 A.  3 – S        B.  S – 3       C.  S + 3      D.   S x 3 

 

 

   5. a number increased by 12          A.  12 – n      B.   n – 12    C.  12 + n     D.   n + 12 

 
 
 

Identify the solution of each equation. 

 

 6. 6 + n = 21                                    A.  14            B.  15            C.  16 

 

 
 

 7. p – 2 = 17                                    A.  17            B.  19            C.  21 

 
 
 

 8. 4h = 32                                        A.  6              B.  8              C.  9 

 
 
 

Solve and graph each inequality. BE SURE TO SHOW YOUR WORK 

 
9.   y + 8 > 20                               

        

 

 

      

 

 

 

 

 

 

 

10.   -4w – 1 ≤ 19       
 

        

 

       

        



11.    Gordon’s friend Kendrick is reading the book Myopia. He has read already read the first 85 pages. He wants to 

finish the book in seven days. Write and solve an inequality to show how many pages Kendrick will need to read each 

day. (Use p to represent the pages read per day.) 

13.    Joshua spends $0.25 for every song he downloads to his cell phone. Which of the following represents the 

number of songs he can download if he spends more than $3? 

 

 A. 

 

  

 B. 

 

 

 C. 

 

 

 D.    Not enough information is given. 

 

 

 
 

14.    What value of x makes this equation true? 

  4x + 7 ≤ 40 

 

 A. 12 

 B. 10 

 C. 9 

 D. 8 

15.   Each hamburger made uses 
3

8
 pound of hamburger. Gabe started with 4

3

4
 pounds of hamburger and now has 

5

8
 

pounds left. How many hamburgers did he make? 

 

  

 

 

 

 


